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MASTER OF ARTS (Economics) 

Term-End Examination 

June, 2011 

MECE-003 : ACTUARIAL ECONOMICS : 
THEORY AND PRACTICE 

Time : 3 hours 	 Maximum Marks ; 100 

Note : Attempt questions from each section as per instructions 

given under each section.. 

SECTION - A 

Answer any two questions from this section : 	2x20=40 
1. Do you think that least squares credibility is 

preferred to the one formulated by Bayes ? Give 

reasons in support of your answer. 

2. Define the concepts of stop-loss and excess-loss 

reinsurance. Discuss the procedure as to how 

pricing of these can he related to pricing applied 

in financial markets. 

3. Explain the Black - Scholes model. Discuss if the 

assumptions of this model are useful for pricing 

insurance products. 

4. (a) Differentiate between the Lundberg and the 

Spare-Andersen models of insurance risk. 

(b) Explain the concept of ruin probability. 
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SECTION - B 

Answer any five questions from this section : 5x12=60 

5. Describe the main structure of a Dynamic 

Financial Analysis (DFA) model. While building 

a DFA model what practical issues will you 

consider for selecting the interest rate ? 

6. What is the difference between exponential law 

and Gompertz Law of mortality ? Which of these 

would you like to use for analysing survival 

models ? Give reasons. 

7. How would you model the claim arrivals in 

insurance ? Discuss the statistical technique and 

its features for claim arrival estimation. 

8. Explain the multi-period binary model of a 

forward contract. Discuss the Cox-Ross-

Rubinstein model. 

9. How do the modern theories of finance offer new 

valuation principles for unit-linked insurance ? 

10. (a) What is Hazard rate ? Discuss its use in 

insurance. 

(b) Explain optional stopping theorem. 
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11. If you are asked to demonstrate the interplay 

between finance and insurance principles, how 

would you do that by using unit-linked insurance 

contract as an example ? 

12. Should the insurance industry be regulated ? Give 

reasons for your answer. What aspects of 

insurance industry need to he regulated ? 
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